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"''ru j$&i.++ F Ql ) -*:i::;i=c. Sketch the signal Z(t) : r(t + 2) ; r(t"+ 1) - 2u(t) + U(6ffi},"

q, 'h. ;
(04 Marks)

is linear, time variant , causal , static and stable.
(08 Marks)

(12 Marks)

.\#{s$* oR #3#*
". 

"\ {#tu ,2 a. For the signal shown inffig.rc2(a), sketch itsaffireffind Odd componexts.t''l" 
,*. Am*) .

own mffi$n Q2(a), sketch ltsdmwn-And Udd components. (06 Marks)
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Fig. Q2(a),m, . 
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J'b. Identffiwhether the folloqfu Mgnals are periodfg olnot? If Periodic what is the period of
"*.1i.7 frt

'"" 
"*""%'-'F

it? i) x(0=cosrEti#l"t ii) x(t)=cosSrt iii) x(n):sinln+sin{n.

&fl5ketch the signalffi'*nu(t - 2) - 2u(t) r+u(t + 2) ii) e-2' 1u1t; - u(t - 2)). (06 Marks)
;e$ "

b. Compute the following cqqi6mutions :

i) v(t) : x(0 * h(t) , q#h#u,(t) : o(t 1 2) andh(g = e-2'u1q.

ii) y(t): x(t) * h(t) , w-hd x(t): e-l*r and h(t): u(t).

*.-}. 
*

OR
4 a. The system is deisqi{bed by the differential equation

dYA :2x(t) + 9x(t).
dt; dt

State wfi-iffir this system is linear, time variant, causal and static.
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Evaluate y(n) : x(n) * h(n) , if x(n) = crn r(n) q*'h Wh(n): u(n)'Evaluate y(n) : x(n) * h(n) , it x(n) = cr" u(n) qk<4l.qr'*n(nr: u(n/:

Evaluate y(t): x(t) * 66;, if x(t) & h(t) are as.sbrdh in Fig. Q4(b(ii)).
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(12 Marks)

(08 Marks)
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5a.

b.

6a.

#
i) h(t): 2 {u(t) - u(t - 2)}. (10 Marks)

i) r(") =.#.S fli sin 4n n with Qo - 2ffi ii) x(t) shown in Fig. Qs(b(ii). (10 Marks)

/t 'q%;'rrn = tl *1fo 
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Find the overall impulspTdponse of the syqteffi*down in Fig. Q6(a)5
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where {ilt): u(t + l) , t
b. State'Effiprove time shift ofFourier Serids.

c. Find the time

i) X (iw) ="; {j;)' + 5jw + 6jw

@
ii) x(i*): i;#
OR
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State and prove Parseval's theorem for Fourier traryffiff
Using properties, find the DTFT ofthe signals. &**=
i) x(n): (%)" u (n + 2) ii) x(n) = tffi(n).
Obtain the signal x(t) , if its Fouriertransforgr is'mr

i) x15*)=r+j(|5 ii) W="-j3"#-

r-
'*,T J].tjf 
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81.
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c.

9a.

d%*
a'tst

Find the Z - transform of the siffi.d
i) x(n): (/)"u(n)-t/$ffi,- tl ii)

f Z - transform.
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(08 Marks)
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(07 Marks)

(08 Marks)

(12 Marks)

b.
c.

State and prove different{ffiii the Z - domain

Use Partial fraction to find the inverse sform of

X(z):*fu#tzFtzt
z'-'Z'N& ^*n2"tri*P
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